CP

EEZS=
R AL

- ERE MRS RE - MFEE -
BRI RIEETE - HEEEE -
 BRISBE - LR -

AR

EZEER-

2

EZEER- A

cm?

AT

AUTOGRIP MACHINERY

BRARF
kN (kgf)

RAFERAEN
MPa(kgf/cm?)

cm
CP-20 28.27
CP-30A 2827
CP-30 2827
CP-40 28.27
CP-50 38.48
CP-70 50.26

215 88 96 53 40 18 - 249 229 75 13 94 76 M10 12

TREE A A

25.13
2513
25.13
25.13
33.57
45.35

W1

MR (ER) BRAKRFFREN
(mm) (mm)
20 150
30 180
30 210
40 200
50 215
70 235
— G -
” R _M_ NIRRT
T B L 23K o/ |
7 ! [ / Ly
= 5. e I
NS o T 1 R mmsa g =2
1T i “ a
1 ';' l—' O,
1 ! X
S 'S
. D P =1 2~RC1/4"
j ) i &mfL

CP-20 83.5 M10x1.5 M6x1

CP-30A 250 88 96 53 40 18 4 285 265 75 13 94 76 96 M10x1.5 M10 14 M6x1 20 24
CP-30 280 88 96 53 40 2z B 327 297 75 13 94 76 96 M12x1.75 M10 14 M6x1 20 24
CP-40 270 88 96 53 40 22 = 331 291 7o 13 94 76 110 M12x1.75 M10 14 M6BxI 20 24
CP-50 300 110 115 65 50 28 5 369 319 90 15 105 105 120 M12x1.75 M10 16 M8x1.25 2 28
CP=70 346 120 126 89 iE) 32 5 430 360 114 15 115 115 146 M14x2 M12 16 M8x1.25 23 28

96
98
98
102
112

s

24
24
24
30
30

14.4(1465)
14.4(1465)
14.4(1465)
14.4(1465)
17.7(1812)
23.9(2434)

22 102
22 102
22 102
32 105
52 120

190
190
190
230
275

60
60
60
85
95

156
156
156
195
240

3.5(35)
3.5(35)
3.5(35)
3.5(35)
3.5(35)
3.5(35)

20 120
23 1o
25 110
29 140
42 155

65
65
65
80
90

156
156
150
180
210

a2
22
22
30
34

18 20 66 24 22 102 190 60 156 32 10 65 150 22 =

6
6
10.5
10
235

WWW.AUTOGRIP-MACHINERY.COM

AUTOGRRIP


https://www.autogrip-machinery.com/proimages/products/Synchronous-Clamps/CP_img.jpg

